Lewvel 2 Snoopy MName
Holding the paper vertically, plot each point on the axes and connecte
them in order. Do not conneckt the shapes to each ocher.

Shape 1 (-9, -Z207 (-5, 9 Shape 12
(=10, -173 -2, -17) (o, 23 <k, <)
I:_IDJ _g:l I:_B.l _ED:I I:l.l 8:' I:B.l 4:'
(-13, -9) (-7, -18) L=, 81

-1, -2 (-7, -203) (=, 27 Shape 12
(-14, -6) (-5, -12) L7, 22 -1z, -2)
(-13, O} (-6, -20) LY, -22
(-12, 5] (-5, -172) Shape 4

(-11, 931 -5, -207) -2, 121 Shape 14
-9, 92 (-, -18) -8, 13) [-14, -82)
(-10, 10l (-4, —-20) (-7, 13) (11, -3
(-10, 11 (-2, -123 -7, 121

-9, 1331 -2, -203) -2, 121 Shape 15
-9, 152 (-2, -17) (-10, -9)
-2, 172 (-2, -20) Shape S L7, -3
(-G, 127 (-1, -12) (-2, 22

(-G, 2Z20) (-1, -=20) (-2, 13) Shape 16
(-5, 207 (o, -12) -9, -12)
-5, 193] [0, 203y Shape & (5, —127
(-2, 17) ity IR ey F_1 On

-2 130 1




